A& ol &b A & Al A
20228 = =0l & 2B A
& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
E5 Al 50,736,082 45,564,000 5,172,082
100 X1 Al=¢ 50,736,082 45,564,000 5,172,082
110 XAl 50,736,082 45,564,000 5,172,082
111 ESAl 50,261,082 45,089,000 5,172,082
111-03 =2l Al 1,995,000 1,912,000 83,000
[ 23 ] 1,995,000 1,912,000 83,000
<ML > 1,995,000 1,912,000 83,000
oMz 10,000 = 26,5004l CH 265,000
OAtg A& 630,000,000 630,000
osgaE:= 220,000,000,000& = 0.005 1,100,000
111-04 TH & A 11,450,000 10,100,000 1,350,000
[ 2etsl A ] 11,450,000 10,100,000 1,350,000
<ML > 11,450,000 10,100,000 1,350,000
O&EX 3,000,000,000,000& = 2.5/1,000 7,500,000
Od=x= 1,020,000,000,000& = 2.5/1,000 2,550,000
o= 933,333,500,000& * 1.5/1,000 1,400,000
111-05 Xt = XHAl 9,133,000 8,708,000 425,000
[ B3I ] 9,133,000 8,708,000 425,000
< MR > 9,133,000 8,708,000 425,000
OPNE=DN; 5,333,000
—SENSI 200 = 2,000cc * 18,000CH * 0.7 5,040,000
—SEANSI 65,0002 = 1,000CH 65,000
— st NS 28,500& = 8,000CH 228,000
OoFd= 3,800,000,000& 3,800,000
111-07 i A HIAl 5,035,000 5,000,000 35,000
[ 2etsl A ] 5,035,000 5,000,000 35,000
<ML > 5,035,000 5,000,000 35,000
Ot Al Al 1,007& = 5,000,000 5,035,000
111-08 Xl & A H| Al 12,998,082 8,655,000 4,343,082
[ el A ] 12,998,082 8,655,000 4,343,082
< MR > 12,998,082 8,655,000 4,343,082
OZSANZXHE XL0I2AY 5,512,942,000& 5,512,942
OxZdu=s BdE 3,184,000,000& 3,184,000
O2&HAH X0l MEALS 4,301,140,000& 4,301,140




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
111-09 X &S Al 9,650,000 10,714,000 A1,064,000
[ Letsl A ] 9,650,000 10,714,000 A1,064,000
<ML > 9,650,000 10,714,000 A1,064,000
OAase 9,650,000
—SEAS 8,000,000,000& = 10/100 800,000
—2EAS 8,500,000,000& = 10/100 850,000
—gelAs 40,000,000,000& = 10/100 4,000,000
—Sg83d= 40,000,000,000& = 10/100 4,000,000
M3 At =g 475,000 475,000 0
113-01 AgtE &+ 475,000 475,000 0
[ el A ] 475,000 475,000 0
<ML > 475,000 475,000 0
OXdEE =g 475,000,000& 475,000




